18.

19.

Calculate the total kms, and total passengers kms from the
following :

Number of-buses - .b

Trips made by each bus - 4

Distance at route - 20 kms (one way)
Days operated in a month - 25

Capacity in each bus - 50 passengers
Normal passengers travelled - 90% of capacity

Spaimaumapmp Qsrar®, Quwrss SAGomSLLi wHmbd Quwrss
Lwenflsar HCambl Ly sarssHs.

Cupgiseien erameanfisms —

eeaGeurm CumBSIL &HOI - 4

auflsL gD ~- 20 &CemSiLfi (@@
; aulfl&S)

@ LIESHd QusslILBD priser — 25

gaiQeur Cupder Qamereratey — 50 Lwarflser

Qamererateded — 90% Lwaflwiser @ueéurs LwallsSprisdr.

From the following information, prepare process account :

Rs.
Materials consumed - 12,000
Direct labour - 14,000
Manufacturing expenses - 4,000
Input in Process A (10,000) units — 10,000
Output - 9,400 units
Value of normal wastage —  Rs. 8 per 100 units

Qerauqmtd edLprisafla@mbs Geudpamp samsdaman gut e,

.
ep@ELIMBLSET LierLSS WS ' — 12,000

Gl &6 : — 14,000

2 HugH CFwa ser — 4,000

< Qaweun e 2 araf® (10,000) S@@ssr — 10,000
Qauafluih - 9,400 @{@)@&;Gﬁ

sngmyenons Geggdlean wdiiy 100 SIOGEE@HES M. 8 G0
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20.

21.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Compare and contrast process costing and job costing.
Lgapep SiLsselme  sarsdwuameoud e 3L ss6llena
sarsHuamawb @uA Hib Capu@GsSub srears.

The accounts of a machine manufacturing company disclose the
following information for six months ending 31¢ Dec. 2020.

Rs.
Materials used - 1,50,000
Direct wages - 1,20,000
Factory overheads ' - 30,000
Administrative expenses - 15,000

Prepare cost sheet for the half year and calculate the price which
the company should quote for the manufacturer of a machine
requiring materials valued at Rs. 1,250 and expenditure in
productive wages Rs. 750, so that the price might yield a profit
at 20% on the selling price.

@@ @Quidid 2pusd Celujbd Pneuergder 31.12.2020 c.vg,Lb
WD Dp&TgET O O1E SETEGSET GeuafuiL Ll G &0
QasTR&sIUL(HeTeng).

€.
apol@UmBLESET LuaTLGSSUE  — 1,50,000
Crriqé snelser C— 1,20,000
Qsmfiperenad Gopé Cewa|ser - 30,000
Hlireurss Qeaeyser — 15,000

Sm LTE Phejpd sTEsHpsrer SLssdlow bE@smLS
sunfiss. Cugd @r Qupdrsms gunfés GCseatL@b
apeliQurgafiar wEi 5. 1,250 wpmib 2-Huss snedlsedr — @p. 750
4G LD.
epuemen efenevulled 20% Qeru L. Geugr(Hibd erems Qs e ®)
e @updrd swrlliugharer eleels Leraflew saEE (HS.
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22.

Prepare stores ledger under weighted average method :
Purchases (kgs) Price per kg Rs. Issued (kgs)

J}lly , 220 2.50 . 250
August 250 2.40 220
September 240 2.60 © 200
October 220 2.30 240
November 260 2.50 210
December 200 2.275 210

Opening stock on July 1 — 240 kgs at Rs.-2.40 pekr kg

Closing stock on Dec. 31 — 300 kgs at Rs. 2.39 per kg

Do you consider the value of closing stock shown above: to be a
justifiable one? Give reasons. :

@muumnie; GUGILESs samsms, u@l‘_LUul'_l_ EI]‘ITEIﬂ AL}
Slgtiuemufle swmr Qais.
Qarerapsd (@ACom  ofere a0 HCarelpE e.u;prﬁuﬂu_lgj (£HCevrm)

gooa 220 2.50 250
el 250 2.40 220
Qe bl 240 2.60 200
SAHCLmLff 220 2.30 240
BaubLIT 260 2.50 210
" gabLT 200 2.275 210

23.

gOme 1 ey < mbu Fg&SpuL — 240 fGan ep. 2.40 @ HCom
aigd, yabur 31 ety aprey FrsHmLy 300 HGaom ep. 2.39 @

Gamr eisb. @md erddlgpriy wdiiy ﬁmrru_lmrrmg,rras JIGEEIES)
eren SHBEDTLT? eNerTdEDd SMHS. i Tl

Calculate the earnings of a worker under the following methods
(a) T1me rate method

(b) Piece rate method

(0 H_aléey plan

(d Rawan plan

‘Information given :

Standard time 30 hours
Time taken 20 hours

Hourly rate of Wages Re. 1 per hour plus a dearness allowance at
50 paise per hour worked.

6 . 60557/CYAGA

16.

17.

Spsan..  eflauyhsafabbg o GETATIPES, @'mm‘mg. 2 WIS
whpib syref sy&HmLL Hlanesmer semrédla|b.

50 s@seT @Jrr»lyg’;,é,l,rj)@
25 SwGS6T uUMISIHHES
75 DG urrsSHneE
300 ev@sar

grgmyen 2 LGWNSD -
G®DHS Serey 2 LGwNTED —
2 WIihe SHeTey o LCwrahd -
DD ENERT Bjare] = = !

oy QaEmdTpsH SreLd — 4 1psed 6 auUTTRIGET

Using Taylor’s differ;ential piece rate system, calculate the
earnings of workers X and Y from the particulars given below :

Standard time - 20 minutes per unit
Normal wagerate —  Rs. 6.00 per hour,

Workers X and Y produced 30 and 20 units respectlvely in a day.

&gan@nm Augiiseners Qarean®), G ieofer Gaumum 6 SIOALR
awepuiler ueflwrerisar X whpib Y 6 ai@ponansanss &erdd (.

. @@isstulL Gprb Sio@ gansg — 20 il mser
sngmyen el eig e waflss - . 6.00

R BTenaTs S Lenflwimari X mmgjm Y, 30 wpgd 20 a{m@asmm
2 Husd Qeigart.

Materials used — Rs. 105

Direct wages — Rs. 140

Direct labour hours — 35 hrs
Estimated factory overhead for the year — Rs. 52,500
Estimated labour hours for the year — Rs. 1,05,000

Compute the overhead to be charged on the basis of the
direct labour hour rate.

ap@LQuTEHLsd e LGUISSsS) - em 105 |
Cpré Fned ' - ep. 140
Cwirig. wienflwimem LOGWTI& 6T ~ 35 waflser
E)hs 2erTiged m,ﬂuLﬁLuul_L - e 52,600

Ggmlhenena GLopblsaa|seT

@;bgs <26 1q. 6T mﬁulﬂl_uul_l_ - . 1,05,000
wirerit (newflaer

G'Lr,l;ru} uewflurarts Loamﬂ aSssden sgtinaLuid Guop@swajsamarn
sasHOS.
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SECTI —(Gxb6= ks)
ECTION B — (5 % 5 = 25 marks) @@ uawrerfler au@raisms Spai@pn (wapsallsd sarsslBHis.
Answer any FIVE questions. (@) asre Gpr &g ey

13. Describe the advantages of cost accounting. () SDG 65 W

é{L.éSB;QEﬂGU)GD SaTdELIeOlel BHeenLoGEmarT .8%1.9185. ; (@) apmed wparp

14. The following are the estimated costs for producing 1000 units : () Grreumer (P

Rs. QSH@S&UuLL SHEUDSHET
Raw materials - 10,000 ' Breamuissin’ L Gy 30 LDGUUﬂ&SGiT/
Wages‘ 5 8,000- aOsg150srar Cryb 20 weanfiser
Direct expenses - 2,000 ‘ :
L AN M By o @@ wafl Gy dael aisbd —ep: 1 Cogid dsalaaiiug 0.50 eust
achine hours neede B ’ CIPE) @it wanfl Gy Couama QFiIzsHE Garsgl STLUILOHDSI.
Machine hour rate - Rs. 2
| : 24. From the following data, relatin icle X’
aod ovirheads @ 10% of wotkicost: . o.wmg ata, relating to vehicle ‘X’ calculate the cost
‘ per running kilometer and ton km. ’
Calculate the cost per unit. :
. g - Vehicle X’
1000 eia@ser 2 pusdssran 2 5Gss Qewey Spai@mor : _ ,
- Kilometers run (annual) — 15,000
@.
ep@LIQUITHLSET = 10,000 Tonnes per km (average) 6
=t 3 8,000 Cost of vehicle - 4+ Rs. 25,000
Cygé Qsealse % 2,000 Road license (annual) — Rs. 750
" Cpaeuwnar @uipdly wenf aigld - 2,000 wanfladr Insurance (annual) : — Rs. 700
Bupdy el cSsid : . - 2 ' Garage rent (annual) — Rs. 900
Qazmfipsrene ILssdmaudd 10% Hlenew waé@]&mmsm‘ Supervision and salaries — Rs. 2,400
gt s@dpsrar siLsselonmus sansds. . Drivers wages per hour — Rs.3
15. From the following particulars calculate fe-o.rder level, minimum Cost of fuel per litre — Rs. 3
level, maximum level and average level of stock.
Kilometers run per lit -
Normal usage — 50 units per week and S &
Minimum usage T s ot e e et L Repairs and maintenance per km‘ — Rs. 1.75
Maximum usage — 75 units per week and Tyre allocation per km — 90 paise
Re-order quantity — 300 units Estimated life of vehicle — 1,00,000 kms
Re-order period — 4to6 weeks i _ Charge interest at 5% p.a. on cost 6f vehicle. The vehicle runs

20 kms per hour on an average.

2 60557/CYAGA
: 7 60557/CYA6A



auairy. X Qem_fijemiw ssaidsdr Aearaumomi, Digmar lasmam
em owd gULsfp@iu SiLssb wHppb @E Ler HGor B
S| GsH@MSID SHamBI9. ,

cuairlg. X’
HComBL LT QU LD (<, eTig D) - 15,000
Lar — @ HGam B LT (&U‘rr&lﬂ)/ 6
euabTiguftelr ALy e i - ep. 25,000
sraned aufl (pemrHéE) - . 750
STISE (SHTHES) - @5 700
Possidl aum_ms (@ThES) — . 900 .
Cupumirene. mbgjm glbLiermd — . 2,400
U OB mal (@ wallsE) - .3
@@ i QuiGyred eflaped - @3
@ AL H&EE SHWb b 20
L(QSILIMILILY hmid LFToAtiy (@ - m. 175
&.15) i - A
@@ HGamBlL BEGAL Lwir — 90 @usm
TETUMTEEGD L PSS STeLd — 1,00,000 &Gam BLL I

@szqu.uEﬂGoT SIL&E55E D 5% aLESDE el ly sasdL LL@GEng
gyrafuns @ wearfl CrrsdnE 20 CGam BLL T ety @GADS!.
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Time : Three hours

10.

11.

12.

Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define cost accounting.

ILEslme samsSuadlen @eadssad snmis.
List out the functions of cost accounting.
SLsslene samrsdlwellanr Lanllaamers LIL iy wedBis.
What are direct material?

CBirig. epeLiQLIMHL S6T wrane ?

What is Bin card?

ST MmUY LI g W) GTETDTED GTEma ?

What do you mean by ABC analysis?

ABC u@uiumite) upl e iHle@geran?”
What is mean by perpetual inventory?
Plenewiren gré@ Camum® erempired eTeme ?

Write a note on ‘Over time’?

Wens Crrb upM @MUY erpsis. -

List out the objectives of time booking?
sron sansdDsdldar Crrésnsmarn L gwalHs.

What is apportionment of overheads?
GupsQswe|semernt LEIEH Q&G DI cTeer ?

Mention the methods of secondary appointment of overheads.
CunQsveysmer QramLnb ' wep UaSEH CFisd wapsmar
&HLAHs. '

What is batch costing?

Qsn@d <iLsselwe erampmed erear?

Mention the industries in which operating costing method can be
used.

Lwss S| dselluamas

Qzmiphereneser
Quuitsenars @HILILGGHS. '

umeﬁu@ﬁ,gm
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